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Section 1 - Reasoning

No. of Questions: 50

1) On the top of a building, flags of different countries furl. The Mexican flag is placed 12th from the
left and 13th from the right. Find the total number of flags.

A) 13
B) 16
C) 24
D) 28

1) T Ha & 2§ W, farfdiemT eif & S eR¥e &1 ot dfFaan ol east STl ok ¥ 12 & ofR art
3R Y 13 F T W & | FSH B FEAT b1 Yl AL 2

A) 13
B) 16
C)24
D) 28

2) Select the option that will make the second pair analogous to the first pair.
Fuel Gauge : Fuel levels :: Anemometer : ?

A) Wind
B) Ink

C) Density
D) Volume

2) 3 faehed 1Y &Y il GaLY SIS Pl Tgell SiTS! B FeA®d S|
T IS : g Aae 1 TR : 2

A) s
B) g%
C) sfad
D) ateerm
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3) What is the next term in the number series given below?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

3) 2 &r 7T T A% # ST U AT 82
32,31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) What is the next term in the number series given below?
3, 21,42, 294..

A) 588
B) 2058
C) 1818
D) 1991

4) 2t & TS TEAT A F SFTEA US T 82
3,21,42,294..

A) 588
B) 2058
C) 1818
D) 1991

5) The average age in a family of 7 members is 28 years. A baby is born in the family. What will be
the average age of the family when the baby will be 6 years old?
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A) 29.5 years
B) 30 years
C) 30.5 years
D) 31 years

5) 7 HeEat dTet 9w 3 S 317 28 a¥ 8| IRaR # T S DI e g3 § | o1l sroar 6 ATel Bl

ST dl afar T SN 3T Rt gRf?

A) 295 a§
B) 30 a¥
C)30.5a§
D) 31 a§

6) What can be the coded form of the string COLD from figure 1 and figure 27

Figure 1:

mR|ROIC|<
wilgliolleli- iy

b B = D

&0 |R ||

|t | | |

ol diwlicelelfy

Figure 2:

O |oo|~a|ov|tn
coMeg|ew
QO|Z|Z|v|r|:

o= =HZ|0|
rA-lleliallelhs

=S| |O|Z|ve

A) 44, 96, 95,
B) 31, 99, 77,
C) 30, 66, 86,
D) 10, 85, 79,

22
22
43
24
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6) o 1 3R = 2 A RgeT COLD 1 ehe Sger fpam g3 & T &1 Hebdll 67

=T 1:

m=R|R|OQ|<
(wilolio]iewli- i

a3 = D

> (o m | [

o | |3 |3 |t |

plediwiieliolbe

o|ool~d|an |
cCoeHewm
O|Z |2

-l il lq el
Z|W|o|r ||

=S| |O|Z2|e

A) 44, 96, 95,
B) 31, 99, 77,
C) 30, 66, 86,
D) 10, 85, 79,

22
22
43
24

7) In a certain code GIPPLE is written as 613382 and LIFE is written as 8192. How is PILLEG
written in that code?

A) 318826
B) 776655
C) 786543
D) 156724

7) U fAfRad P 3 GIPPLE 1613382 & &9 3 3R LIFE 18192 & &7 3 for@n Sf1dl § 1 PILLEG &1

I Pe 3 Y forgr S ?

A) 318826
B) 776655
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C) 786543
D) 156724

8) Which of the following statements can be used to take a decision on this question: Is P>Q?

A)P =30

B) Q=40

C) PQ =1200

D) Question cannot be solved

8) 39 yeT R 0T A1 & forw e=ifaf@d & T fra $YT &1 SUUNT 3T ST Iebdl 8 : 747 P>Q 82

A)P =30

B) Q = 40

C) PQ = 1200

D) gorear g &1 &7 ol Tobell &

9) How many triangles are there in the following figure?

A) 4
B) 5
C)7
D)8

9) et fEd o # fehcs e 872
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A) 4
B) 5
C)7
D)8

10) Which of the given option will NOT share the same property as the elements of the given set:
(10, 20, 30, 40, 50)?

A) 70
B) 90
C) 77
D) 60

10) 3T T fasheq & ¥ SIF 1 faeheq f&w 1T e (10, 20, 30, 40, 50) P dedt B FH 0T D A1
e HA?

A) 70
B) 90
C)77
D) 60

11) You are given a statement.
Statement: This is a leap year.

Which of the following questions can be answered by using the given statement?

A) Is this year 19667
B) Is this year 19727
C) Is this year 19887
D) Is this year 19967
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11) 3D U B &g 717 B

FU: TgUH AT av g |

T 7T HYT BT IYINT Db oot & I T U2aT BT 33X &1 O Jhdl g2

A) T U8 a¥ 1966 87
B) a7 U8 a¥ 1972 82
C) 7 Ug 9§ 1988 B2
D) a7 T 9% 1996 2

12) A Salesman is entitled to % 15 for every km being travelled by car and X 5 for every km being
travelled by bike. In a day, if he has made a claim of ¥ 600 after covering 90 kms, how many
kms did he travel by bike( Consider he has used only car and bike for traveling)?

A) 25 kms
B) 45 kms
C) 75 kms
D) Data Insufficient

12) Teh Voidlel PR @RI TN HRA W 2 15 ey vt 3R ST @1 I XA W 2 5 9y paly
IETES U &1 3SR 81 i T a7 3, I9 90 frely T W R & &G % 600 &1 1aT fma &,
I I et fretefieY I3 A 1 82 (HH o & ST I3 & faw Had &R 3R dI86 &
SEATS 6T )

A) 25 farett
B) 45 forely
C)75 foratt
D) 317er% 3raaica &

13) Sunil told that Mohit was the son of the only brother of his father’'s wife. How is Mohit related to
Sunil?

A) Son
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B) Maternal Uncle
C) Cousin
D) Brother

13) GHId = SATT o ARl IHD AT Y Geoll B TehATT TS BT SITT & | AR AT BT T THIAT 62

A) SeT
B) myrar /A
C) gavr uig
D) u1é

14) What do all the four names given below represent?
(Croatia, Morocco, Kosovo, Ukraine)

A) Capitals

B) Countries
C) Religions
D) Languages

14) 912 BT T IR 19 F27 ST 82
(shTafRIT, ARV, DI, Gohet)

A) grerenfaar
B) g
C) eray
D) ayer

15) In how many different sets can the given set be classified if classification is done on the basis
of number of digits in term?

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
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C)5
D)6

15) U T VT P! fohciel et et & auffepel e S Wapell § AT I8 affeor UG 2 3iehi I SMYR W
fema ST &2

(562, 1782, 987, 110011, 3562, 34)

A) 3
B) 4
C)5
D) 6

16) A cube is painted on all the faces with same colour and cut into 27 smaller cubes of equal size.
How many cubes are painted exactly on 2 faces?

A) 24
B) 28
C) 32
D) 12

16) T U9 & ! b &I U & 31 Q e frar 9raT g 3R YA MHR S 27 BIC U7 3 HIeTI1dT 8l
et T & 81 2 b WR Ye fFam T 82

A) 24
B) 28
C) 32
D) 12

17) Select the option that will make the second pair analogous to the first pair.
Soldiers : Army :: Nomads :

A) Horde
B) Heap
C) Herd
D) Bundle

Page90f87



Setld : 61786 3 Technical Assistant (LAB) - Electrical BATCH2 180CT2020

17) I ahed BT 9T Y Sl G SIS | bl Tgell Silg! b TATT &1 3:
dfre: A7 2 dOIR I

A gs
B) &}
C)ge
D) areat

18) Select the option that will make the second pair analogous to the first pair.
6:219::9:7

A) 221
B) 263
C) 325
D) 732

18) I fashed BT I Y Ol A SIS Pl Tgell SlIS! b THET S|
6:219::9:7

A) 221
B) 263
C) 325
D) 732

19) If every second Thursday and all Sundays are holidays in a 31 day month, beginning on
Thursday, then how many holidays will be there in that month?

A) 4
B) 6
C)3
D)5

19) I AR ¥ e §H ATd 31 e & AE # 8GN [7aR 3R Tt fdam w1 g Bt B, o 39
FET 3 el Defeat g
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A) 4
B) 6
C)3
D)5

20) What is the missing term in the number series given below?
, 175,25, 9,108, 12, 7,133, 19,12, 72,6

A) 7
B) 9
C) 11
D)5

20) 1 & TS HEAT HGT F SUTEUS UG FAT 72
,175, 25,9, 108, 12,7, 133,19, 12, 72, 6

A)7
B) 9
C) 11
D)5

21) Two natural numbers have same number of digits and their sum is a 3-digit natural number.
What could be the minimum value of their product?

A) 900
B) 1200

C) 2500
D) Cannot be determined

21) T o TEanst & YHH 3 & 3R SBT3 37eht T UTehferer TEAT & | I7eb UGB Bl
=gIaH | &1 81 9ol o7

A) 900
B) 1200
C) 2500

D) iR w1ET e o b
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22) What is the coded number for WVCZVS from the following figure?

LETTER: CZNVRSWFD

CODEDIGIT:864729351

A) 376669
B) 378677
C) 378679
D) 388679

22) fAFAfaf@d Sefar 8 WVCZVS & forT Peseer Fear T 87
LETTER: CZNVRSWFD

CODEDIGIT:864729351

A) 376669
B) 378677
C) 378679
D) 388679

23) Which of the given set of statements should be used to answer the given question: Is P < Q?

a) P is a perfect square.
b) Q is a perfect cube.

A) Only a

B) Only b

C) Both a and b together

D) Not possible to answer even with both aand b
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23) T U 92 BT IR & B foIT T U &2t # I forgenr SUANT fovarm ST =nfge: Far P < Q?

a) P T quf o 3
b) Q TP ot & @l

A) Fad a

B) &adib

C) a 3R b &=t T A1

D) a 3R b axet & I1Y off 3av €T faar S YHhd1 8

24) How many hexagons are there in the following figure?

A) 3
B) 4
C) 10
D)9

24) TAFAforiad T & fohde YeahluT 5?2
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A) 3
B) 4
C) 10
D)9

25) A set is given, (Mathematics, Algebra, Trigonometry, Geometry). The sets given in options are
similar to it in a certain way EXCEPT one. Find the set that is different.

A) (Physics, Mechanics, Optics, Electromagnetism)
B) (Biology, Photosynthesis, Elections, Weather)

) (English, Grammar, Comprehension, Writing)

)

Chemistry, Reactions, Compounds, Molecules)

C
D

o~ o~ o~ o~

25) T Je (a1701d, Asteriore, Neporfafa, sanfaf) fear 1 81 Reey 3 Ry U et 4 I U &1
BlgHRarhr 94l Te AT aliss T THH &1 s de A |

26) You are given a statement.
Statement: Number P is an odd number.

Which of the following questions can be answered by using the given statement?

A) Is P a prime number?

B) Is P a composite number?
C) Is (P+1) divisible by 2?

D) Is (P+2) divisible by 37?

26) 3ATUHI T HY f&ar 141 3

HYT: TEIT P T v T&ar B
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T 7T U=t BT IUANTT Hdb oo & F g 92T 1 39X &1 O bl g2

A) &1 P T 31T HET 872
B) o P Us W Fd T 87
Claar (P + 1), 2 T s a2
D) &=r (P + 2), 3 9 fysmsw 82

27) Which among the following statements will conclude that “Mahesh has a sister”?

a) Mahesh is the only son of his father

b) Mahesh's father has two kids

c) Mahesh’s mother is the only daughter of Rajesh
d) Mahesh has a cousin whose name is Seetha

A)a&d
B)a&c
C)cé&d
D)a&b

27) FEAfaTRd Fuat & ¥ Fad T8 sy Misaen 3 "He Y H Uh 967 22

a) FOXI S0 AT B gHaldl YT o

b) HeXI & e & &l o< &

c) TR T Al AT SheAd! 8T 8

d) Fe X & U ==Y 584 g foryesT A1 diar &

A)a &d
B)a&c
C)c&d
D)a&b

28) There are 160 children in a class comprising of two sections — A (with 100 students) and B
(with 60 students). The average marks of the students of section A is 75 while the average marks
for the entire class is 76. What is the average marks for the students of Section B?

A) 77.33
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B) 77.67
C)78.33
D) 78.67

28) Q1 997 aTal U &t & 160 =2 &, ¥ - A (100 BT & 1Y) 3R F91-B (60 ST H ) | g9 A D

o1t BT ST 31 75 © STafeh GIr hatl & forw $fi9d 3idh 76 31 aef B & ol & faiw SiNd 3idh el
&7

A) 77.33
B) 77.67
C)78.33
D) 78.67

29) Showing the photograph of a man, Harish told that his mother was the wife of my father’s son.
If Harish is the only son of his parents, whose photograph was shown by Harish?

A) Son of Harish

B) Father of Harish

C) Brother of Harish

D) Grandfather of Harish

29) Ueh 3MTGH! i TEIR ey gU gder 3 el o 3w A HR ar & o &1 vest 81 A gdver 3704
HICT-eT 1 TehaATT G &, I g0er = fohaehy ok feams?

A) glrar BTG
B) &frer & frar
C) glrer 145
D) ger & areroht

30) In each of the pair given in options, Country and its capital is given. Identify the INCORRECT
pair.

A) BANGLADESH - DHAKA
B) CANADA — OTTAWA

C) COLOMBIA - BOGOTA
D) EGYPT — BERLIN
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30) faeent 7 faT T yedes Oils , SR 3R 3HHT AT &7 T3 & | TAd Siie!adhr UgdH |

A) ST - TTHT
B) SArS1- 3fierar

C) sprafaar- aimer

D) e - afder

31) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
7 N[, [ o
A7l %l ° P .
(A) (B) (© (D) (1) (2) (3) €Y
A) 1
B) 2
C)3
D) 4
31) DI Ul 3R BT & T8 T SHTbTer b Seed bl qRT A1
Problem Figures: Answers Figures:
7 N7 [ o [ o & >
< I R A Y1 4 4
(A) (B) (©) (D) (1) (2) (3) (4
A) 1
B) 2
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C)3
D) 4

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:

- -—
Felef- 11T 2 o] | o e
(A) (B) (C) (D) (1) (2) (3) 4
A) 1
B) 2
C)3
D)4

32) B Wl IR NP & T8 FoAET SHTHTay b deed Bl qRT A1

Problem Figures: Answers Figures:
. —
ol 1] 2 ] ||y s | ]
(A) (B) ©) (D) (1) (2) (3) )
A) 1
B) 2
C)3
D) 4

33) Which answer figure will complete the pattern given in the problem figure?
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Problem Figures: Answers Figures:
(A) (B) (©) D) (1) (2) (3 4
A) 1
B) 2
C)3
D) 4

33) DIl 3T ST & T8 FAEAT PR b Seed bl TR B2

Problem Figures: Answers Figures:
(A) (B) (©€) (D) (1 (2) (3) 69
A) 1
B) 2
C)3
D)4

34) In what way can this set be classified into two different sets?
(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) and (289, 441, 729, 961)
B) (17, 441, 27, 31) and (289, 21, 729, 961)
C) )

) )

D

17, 21, 961, 31) and (289, 441, 729, 27
729, 21, 27, 31) and (289, 441, 17, 961

P N N
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34) e e ¥ 5H WHTTY & 3{eNT-3(eNT Yot 3 gafferd R Sl Jebl 57
(17, 21, 289, 27, 729, 31, 441, 961)

A) (17, 21, 27, 31) 3IR (289, 441, 729, 961)
B) (17, 441, 27, 31) 3R (289, 21, 729, 961)
C) (17, 21, 961, 31) 3R (289, 441, 729, 27)
D) (729, 21, 27, 31) 3R (289, 441, 17, 961)

35) A larger cube is made from 512 smaller cubes each of dimensions 1cm x 1cm x 1cm. Then the

larger cube is painted on all the faces. Now if you consider the smaller cubes how many are
painted atleast on 2 faces?

A) 80
B) 216
C) 432
D) 72

35) T gaTgd 1 9} x 1 I} x 1 I M g3 & 512 B gt B! fFemens ST 7147 3| v g9

T & Ul BaS @l de B T 81 I 310 SIS et IR fFaR &Y dl 333 A fhvdsl & 2 BAS R I
frar T 87

A) 80
B) 216
C) 432
D) 72

36) The average of the average monthly temperatures of February, March and April is 40
degree celsius. The average of the average monthly temperatures of April & February is 39 degree
celsius. What is the average monthly temperature of March? (in degrees Celsius)

A) 42
B) 40
C) 38
D) 39
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36) HYEY, AT 3R 3r8er & YT ATfAS dToHA BT 39 40 2 Afowaa 81 3 3R e &

3T ATf e AT &1 3d 39 e Afewad g1 A &1 3id Arfle aroHE &= grm? (Bl
afecaad #)

A) 42
B) 40
C) 38
D) 39

37) Select the option that will make the second pair analogous to the first pair.
Cricket : Pitch :: Gambling : '

A) Court

B) Temple

C) Classroom
D) Casino

37) S faehed BT T i S GadY Siis! Bl ggell Slio! & THET ST ITI:
fohehe © Orer = SIS

ET
B) sifex
C) e
D) $fa=n

38) What is the missing term in the number series given below?
1,5,11,19, _ ,41,55,71, 89

A) 25
B) 29
C) 31
D) 36
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38) 12 & TS TEAT HEAT F SHTARU UG FT 37
1,5,11,19, __, 41,55,71, 89

A) 25
B) 29
C) 31
D) 36

39) Six friends, P, Q, R, S, T and U, are going on a trip. The tallest among them is 13 cms taller
than the shortest. The height of R is average of the heights of P and T. The heights of T and R are
162.5 cms and 156 cms, respectively. Who is the shortest among them?

A) P
B) Q
C)R
D)S

39) BEaEd, P, Q, R, S, T 3R U T a1 WR o7 I3 &1 3431 T YaQ dal safaa, Jad e cafda ¥ 13

Il A1 81 R T o arS P 3R T 1 oioas BT 3 81 T 3R R oToa1S HAA: 162.5 TH 3R 156
It 31 I diE I el S 82

A)P
B) Q
C)R
D)S

40) If PUSH is written as 1234, ROUGH is written as 65274, then the code for SOUP is

A) 3467
B) 3521
C) 7423
D) 6532

40) ARG PUSH ®1 1234 & &9 &, ROUGH 165274 & &9 & far@r 711 &, dl SOUP & farw o &
BHIT?

A) 3467
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B) 3521
C) 7423
D) 6532

41) A set of statements is given.

a) Radha always lies.

b) Hari always speaks truth.

What will be the answer if Radha is asked, "Will you lie while giving the answer to this question"?

Which of the given set of statements should be used to decide the solution to problem:

A) Only a

B) Only b

C) Both a and b together

D) Not possible to decide even with both a and b

41) AT BT TS G foram T g

a) VYT GHR S Sierdl &
b) &R EARM T e gl

"FT 3MTU 3 FaTel BT SIATd G U S atorl”, AR T J YBT ST, Gl 34T SfaTsl GI?

THEEAT S Y $T A0 B & faw R T =t & 8 frge IudN fhar ST =R

A) dada

B) %ad b

C) a 3R b ST TH ATY

D) a 3R b @t & T1Y off oy BT Hua A&7 §

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the following
figure X?
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»

X RN

X 4

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) frfaf@a Ra-F X & faw R T 1, 2, 3 3R 4 fAfaest & T B I T o gfafaes 82

X HFoA NN

X

A) gfafees 1
B) gfafassr 2
C) gfafeea 3
D) gfafassr 4

43) A set is given, (23, 12, 35). The sets given in options are similar to it in certain way, EXCEPT
one. Find the set that is different.

A) (46, 24, 70)
B) (35, 22, 57)
C) (36, 26, 61)
D) (68, 12, 80)

43) U UT (23, 12, 35) &1 T | [erew &1 3T T At & T U &) SisdHrarh H Th ARad
FF J Uh A & 98 I 1d FY o 3T g

A) (46, 24, 70)
B) (35, 22, 57)
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C) (36, 26, 61)
D) (68, 12, 80)

44) Given below a question followed by 2 statements. Choose the statement required to answer
the question by selecting an appropriate answer option.

Question : How many brothers do | have?

Statement 1: | have equal number of sisters and brothers.
Statement 2: My elder sister has 2 sisters.

A) Only statement 1

B) Only statement 2

C) Both statements 1 and 2

D) Neither statement 1 nor statement 2

44) I Th 9 o 1Y &l HY faU MU & 37T 3K [Gehed B 9T B 92T P 30X o & Tolw
TR HYT ol |

goaT: WX frcier HTS £2

YU 1: Y TgaAT 3R =TT T FEAT I g
Y 2: A Jolae T 2 FgeT &

A) BHad DHYT 1

B) ad T 2

C) ®y 1 3R 2, At
D)3 dl & 1 3R T S HYA 2

45) The average score of a batsman is 75 runs after 40 test matches. His highest score exceeds,

the lowest one by 258 runs. If those two matches are excluded, his average score will become 72
runs. What was the highest score of that batsman?

A) 259
B) 260
C) 261
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D) 263

45) 40 ¢¥e AT & 918 Uh doadrs B 3d THR 75 3 8 | STDT3cadH THI Feadd TR T 258

T 310 o | IR S <) At Bl enfier 78T frar 9Idl § ) SUBTSd TR 72 39 81 ST 39
deoldTsl & gdftd THIX 4T UI?

A) 259
B) 260
C) 261
D) 263

46) Vinay is the son-in-law of the mother-in-law of Rakesh's wife. Usha is Rakesh's only sister.
How is Rakesh's mother related to Vinay's wife ?

A) Mother-in-law
B) Sister-in-law
C) Mother

D) Sister

46) T ABR T Teott T T BTG & | STRIBHT SHalld! 98 & | ST Hi BT faeTsr &7 qelt
& Y & Rear 32

A) I

B) @relr

C)ar

D) 55+

47) A is the son of B while B and C are the two sisters. E is the mother of C. If D is the son of E,
which one of the following statements is CORRECT?

A) E is the sister of B

B) D is the cousin of A

C) D is the grandfather of B

D) D is the maternal uncle of A
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47) A, B HT ST § sTafeh B 3R C el aigel &1 E, CHI AT 51 ARG D, E IS &, <l fovoT v2ialt & &
B 1 TP T 87

A E, B 88
B)D, ABTTARIUIS §
C)D, B & gl §
D) D, A 1M &

48) Which among the following statements provide equivalent information?
a) (P-2)(P-4)<0

b) P>2
c) P<4

A)aandb
B)bandc
C)aandc
D) All three a, b, and c give different information

48) fEATaRd HYa & § B I HUF T AT SR TeTe BT 82
a) (P-2)(P-4) <0

b) P>2
c) P<4

A) a 3R b
B)pafiRec
C)a\}ﬁ?c
D) @it & a, b, 3R ¢ SIT-SHTHT SRR Tt PR &

49) In what way can the terms of given set be divided into three sets so that the terms in three sets
have same product?
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(27,12, 24, 18, 54, 36)

A) (27, 24), (12, 36) and (18, 54)
B) (27, 24), (12, 54) and (18, 36)
) (12, 24), (27, 54) and (18, 36)
) ( ),

27, 54), (12, 18) and (24, 36)

C
D

49) BT U Jet & uet &I, frg aiies A I et & Rantora frar off Yobdl 8, arfs =it et & gei &1

U AHE BI?
(27, 12, 24, 18, 54, 36)

A) (27, 24), (12, 36) 3R (18, 54)
B) (27, 24), (12, 54) 3R (18, 36)
C) (12, 24), (27, 54) 3R (18, 36)
D) (27, 54), (12, 18) 3iR (24, 36)

50) Which number pattern is different from the others?

A)3,5,9,17
B)4,7,13,25
C)5, 9,17, 33
D) 6, 19, 64, 210

50) P AT TEAT Yoot GaRl ¥ ST 572

A)3,5,9,17
B) 4, 7, 13, 25
C)5,9,17, 33
D) 6, 19, 64, 210
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word — Crude

A) Refined
B) Unrefined
C)Bad

D) Tasty

52) Choose the correct article to complete the sentence:
He is visiting Netherlands.

A) a

B) an

C) the

D) No article required

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) We have / (B) been frantic / (C) by worry. / (D) No Error.

A) A
B) B
c)C
D)D

54) Choose the best meaning of the underlined idiom in the sentence.

The villain ate the humble pie at the end of the movie.

A) repudiated
B) confessed
C) questioned
D) rejoiced

55) Fill in the blank with the correct pronoun:
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is a very pretty girl.

A) He
B) They
C) It

D) She

56) Fill in the blanks with the correct option:

The sea was churned up heavy winds.

A) with
B) by
C) of
D) to

57) Fill in the blanks with the correct option:

Her car is excellent condition.

A) at
B) in
C)on
D) with

58) Choose the correct option to complete the sentence:
He failed to complete the task because of his

A) perseverance
B) attentiveness
C) laziness

D) eagerness

59) Identify the Compound sentence.

A) Our dog was frightened at the noise of the fireworks and ran indoors.
B) Few plants can grow in such a frigid environment.
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C) It was a lovely spring morning.
D) I hit my head as | was getting into the car.

60) Choose the word that is correctly spelt.

A) Apease
B) Appease
C) Apeese
D) Appeasse

61) Identify the synonym for the word — Fabulous

A) Incredible
B) Terrible
C) Rich

D) Copious

62) Identify the synonym for the word — Servile

A) Driven
B) Slavish
C) Puerile
D) Royal

63) Fill in the blanks with the correct form of verb:

The college classical language courses.

A) offer

B) offering

C) were offering
D) offers

64) Fill in the blank/s with the correct form of the verb given in brackets:

My father often

A) will have scolded
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B) scolding
C) scolds
D) be scolding

65) Choose the correct verb to complete the sentence:

They the effort we had made.

A) appreciated
B) appreciate

C) appreciating
D) will appreciate

66) Choose the correct verb to complete the sentence:
The old man cannot very well in the dark.

A) seen
B) see
C) saw
D) sees

67) ldentify the antonym for the word — Vague

A) Rough

B) Smooth

C) Fashionable
D) Apparent

68) Choose the correct article to complete the sentence:
Suman has always been shy child.

A) a

B) an

C) the

D) No article is required.

69) Identify the part of the sentence that has an error:
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| like your photographs so | send them for publication.

A) | like

B) your photographs
C) so | send them
D) for publication

70) Choose the meaning of the italicized idiom used in the given sentence.

For the principal, the school board's decision to expel his son for the reason of misconduct was a
bitter pill to swallow.

A) an unpleasant situation that must be accepted
B) an unpleasant medicine that must be taken

C) an unpleasant law that is passed by the government
D) a badly made medicine

71) Choose the meaning of the italicized idiom used in the given sentence.

Those who study both Mathematics and Biology in the 11th and 12th standards have the best of
both worlds.

A) living in two different countries at the same time

B) enjoying two different opportunities at the same time
C) having the best resources for two different subjects
D) having too much burden due to an extra subject

72) Fill in the blanks with the correct option:

Although complained about the bad roads, took the intitiative to bring
it to the notice of the concerned authority.

A) everybody/ everyone
B) none/none

C) everybody/everybody
D) everybody/ none

73) Fill in the blank with the correct preposition:
He is two years older than .
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A) she
B) me

C) they
D) I

74) Fill in the blanks with the correct option:

He has been committed prison fraud.

A) to, for
B) for, to
C) with, in
D) on, to

75) Choose the correct option to complete the sentence:
Cars must not be parked the gate.

A) in addition to
B) by means of
C) in front of

D) in regard to

76) Choose the correct option to complete the sentence:
Unlike the wholesaler, the sells directly to the customer.

A) seller

B) retailer
C) supplier
D) consumer

77) ldentify the Compound sentence.

A) | took one look at her and cracked up.
B) The child crawled across the floor.

C) I've run out of milk.

D) They sat in the back row of the cinema.
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78) Choose the word that is spelt correctly.

A) Averisious
B) Avericious
C) Averitious
D) Avaricious

79) Choose the word that is correctly spelt.

A) Accompanement
B) Accompanyment
C) Accompaniment
D) Accommpaniment

80) Identify the synonym for the word —Callow

A) Dirty

B) Pure

C) Sophisticated
D) Immature

81) Identify the synonym for the word — Configuration

A) Confinement
B) Arrangement
C) Drawing

D) Alteration

82) Fill in the blanks with the correct form of verb:

She from school at 15 years old.

A) was expelled
B) were expelled
C) expelling

D) expels

83) Fill in the blank/s with the correct form of the verb given in brackets:
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My friend usually (pick) me up at the end of the corner and (drop) me at
the office everyday.

A) picks, drops

B) picked, has dropped

C) will pick, will drop

D) has picked, has dropped

84) Select the right verb for the blank:
She cannot read unless she glasses.

A) wearing
B) wears
C) wore

D) wear

85) Choose the antonym of the underlined word.
There is a very enticing dale in Rajasthan.

A) Dingle
B) Dell
C) Glen
D) Hill

86) Choose the correct articles to complete the sentence:
dead no longer need help.

A) A, an

B) A, the

C) An, the

D) The, no article

87) Choose the correct article to complete the sentence:

midday sun beamed down on the boat as it drifted along.

A) No Article required
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B) A
C) The
D) An

88) Identify the part of the sentence that has an error:
To each of our teachers, we bought a bouquet of roses.

A) To each

B) of our teachers

C) we bought

D) a bouquet of roses.

89) Choose the meaning of the italicized idiom used in the given sentence.
After five minutes of beating around the bush, he finally asked his manager for 2 days leave.

A) searching for birds

B) searching for excuses
C) avoiding the main topic
D) avoiding getting scolded

90) Choose the Pronoun in the given sentence:
It is a favourite game of theirs.

A) favourite
B) game

C) theirs

D) of

91) Fill in the blanks with the correct option:

The actor was besieged requests for autograph from her fans.

A) from
B) for
C)to
D) with
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92) Fill in the blanks with the correct option:

You should abstain smoking, as it often causes cancer.

A) for
B) from
C)in
D) on

93) Choose the correct option to complete the sentence:
| could not buy the shoes because the price was .

A) reasonable
B) affordable
C) fair

D) exorbitant

94) Choose the correct option to complete the sentence:
The bomb scare made the people of what might happen.

A) pensive
B) unconcerned
C) apprehensive
D) careless

95) Identify the Complex sentence.

A) They offered no solution to our myriad problems.
B) Paul was named after his grandfather.
C) Some migrating birds can navigate by the moon.

D) Theirs was a partnership, which was based on mutual respect, trust and understanding.

96) Choose the correctly spelt word.

A) Inconsiquential
B) Inconsequintial
C) Inconsequential
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D) Inconsequenshial

97) Identify the correct synonym:

Impinge

A) Encroach
B) Sell

C) Buy

D) Exceed

98) Identify the correct synonym:

Exorbitant

A) Cheap

B) Inexpensive
C) Small

D) Excessive

99) Fill in the blank/s with the correct form of the verb given in brackets:

I (feel) like a stranger even when |

A) am feeling, was
B) feel, am being
C) feel, am

D) was feeling, am

(be) amidst my family.

100) Choose the correct verb to complete the sentence:
Shashi offered me to the airport, as it was on his way.

A) dropping
B) a drop
C) to drop
D) drop
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Section 3 - General Awareness

No. of Questions: 50

101) In April 2019, which company announced its plans to shut down operations in China?

A) eBay

B) Flipkart
C) Amazon
D) Walmart

101) 3134eT 2019 &, forg HUAT A, A 7 ATIR &G HRA hr 3T JioiHT T GIyuT Hr?

A €3

B) freraehre
C) wHmei
D) gferare

102) Which of the following semiconductor materials is used in manufacturing a transistor?

A) Aluminium
B) Silicon

C) Graphite
D) Fullerene

102) gifSreey & fAsTor & Peafaf@a & O frg Yefergeaey A1 3refarers garet &1 IUANT T SITdT 82
A) e
B) rafereprer

C) Irrse
D) e

103) Who among the following is the first law officer of the Government of India?

A) Attorney General of India
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B) Governor of the state
C) Chief Justice of India
D) Prime Minister of India

103) fAeATafAd & ¥ DI YR IPR BT 92H ST TSR 82
A) YRT & FgT=arIaTdr

B) 151 & Ursgara
C) 4R & e =amameder
D) 4Rd & gerret #4r

104) Which of the following treatises is the work of the poet-saint Tulsidas?

A) Ramcharitmanas

B) Manusmriti

C) Hari Chitta Satya

D) Ramadhanya Charitre

104) Fr=faf@d & A I A1 7 HfA-Hd TGN Hr [=THA 62

A) IEaRaAE
B) Fefa

C) ek R e
D) reren=ar a3

105) Appam, a type of pancake made with fermented rice batter and coconut milk is a common
food in which state of India?

A) West Bengal
B) Maharashtra
C) Kerala
D) Odisha
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105) 31o9#, Th YehR I U e ford WHR I3 AMGd & Tiet 3R ATRIT & GY Y TR STl 3,
T YRT & el T BT 3T HIoH 87

A) gfResH ST
B) sgmTSe

C) aa

D) snfam

106) Which of the following separates Sri Lanka from India?

A) Duncan Passage

B) Nine Degree Channel
C) Ten Degree Channel
D) Palk Strait

106) fAfaf@a 3 Q 7 Areier BT URA 3T BT 872

A) S5 OO

B) q1s7 faefy 9@
C) & feah 9@
D) ures g¢e

107) India shares its land frontier with which one of the following countries in the East?

A) China

B) Pakistan

C) Nepal

D) Bangladesh

107) HRd U T 3 fReaafori@d 3 & e Q=1 A1y 3T YA HHT-srerer b T Bl 57

A) &1
B) arferedrer
C) Aura
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D) siaemeer

108) The remains of Indus valley civilisations are NOT found in which of the following states of
India?

A) Punjab
B) Uttar Pradesh
C) Guijarat
D) Odisha

108) F=ifaf@a & ¥ HRA & e Tsa & iy arét T3gar & A= g1 U1e oiid &7

A) g

B) 3% wer
C) 1roRTa
D) afaar

109) One of the major sites of the Indus Valley Civilization 'Kalibangan', is loacted in which of the
following states of India?

A) Rajasthan

B) Madhya Pradesh
C) Uttar Pradesh

D) Punjab

109) e TTeY ToTT & YA Tl H J Th 'Hrelis1ar’, HRA & eAfarad 7 J fha T 7 o
o

A) TreTEaT

B) sy weer
C) s geer

D) gaire
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110) The '61st Amendment' of the Constitution of India, officially known as The Constitution (61st
Amendment) Act, 1989 has fixed the voting age of elections to the Lok Sabha and to the
Legislative Assemblies of States at

A) 18 years
B) 21 years
C) 23 years
D) 25 years

110) YRd & Efaer= ®1'61d1 GRNY', S 3nfRemRe &0 T GigerT (6191 I=Y) 3T, 1989
& &9 & ST Il &, 7 b aHT 3R st i Rereasimait & forw garat & Aaar H 30 fedah 7 &
87

A) 18 TTd
B) 21 91
C) 23 91
D) 25 drat

111) In 2017, India's first Rural LED Street Lighting Project was implemented in which of the
following states?

A) Odisha

B) Tamil Nadu

C) Jharkhand

D) Andhra Pradesh

111) 2017 &, HR T Igell ITHT LED TET 18T IRASTAT Me=ttarad & 9 v T & ar] i
Ts o2

A) 3nfzem
B) affrereirg
C) s@us
D) 3rier weer
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112) Which state in India is the first one to launch Crime and Criminal Tracking Network and
Systems (CCTNS)?

A) Maharashtra
B) Karnataka
C) Goa

D) Gujarat

112) HRA & D T T FeH U A 2T Aead TS e (CCTNS) diiea HR4 dTdl Ugdl
T 87

A) FrerTsg
B) steen
C) TMar

D) 1reRrd

113) Which of the following athletes created history by becoming the first Indian woman wrestler to
win gold medal in 2018 Senior Asian Championships?

A) Sakshi Malik
B) Geeta Phogat
C) Navjot Kaur
D) Babita Kumari

113) fAfaf@a & 9 e vaelie 3 2018 WA vRIamS Afw=fg & waof ggdh Siiar arel Tgel
YR #Afger UgddH g sfaga 3 fear?

A) areh Afers
B) i1 wrre
C) Taelid R
D) sferar pamdy

114) Who won the FIFA World Cup Football 20187

A) Germany
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B) France
C) Croatia
D) Brazil

114) T faea U pesie 2018 raer Siidl?

A) st
B) wig

C) srafRram
D) s1f3rer

115) Who was sworn in as the new Prime Minister of Palestine in April, 20197

A) Mohammad Shtayyeh
B) Mahmoud Abbas

C) Benjamin Netanyahu
D) Rami Hamdallah

115) 3713, 2019 # TR & AU FU=HT & &9 7 fhas TTY N2

A) migFre Tddg
B) weHg srsara
C) soniver g
D) it gre e

116) Which nation awarded Prime Minister Narendra Modi with its highest state honour 'Order of St
Andrew the Apostle' in April, 2019?

A) China
B) Russia
C) Israel
D) France
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116) 378, 2019 & e SR TeTeT FY A AT D U Hafea AR TeATH ‘37T 31 e Ugg.
G TirEeer § FEATAT fRar?

A) 94
B) vg
C) gorrsd
D) i

117) Which of the following phenomena does NOT occur during the formation of a rainbow?

A) Polarization

B) Total internal reflection
C) Refraction

D) Dispersion

117) S8 & 6 & SR foreet & | B Ul aReresr w81 gl 82

A) grdiepul
B) gof 317aRes wrade
C) 3rqads
D) afveyoor

118) The odorant added to LPG cylinder to identify the leakage is

A) Chlorine

B) Ammonia

C) Dimethyl sulfide
D) Ethyl mercaptan

118) &g 1 UgaH FRA & fow LPG Aol &1 1 Y Hemar Sdr g2

A) T
B) srfaar
C) ggHyTEd Hewrss
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D) surse aeeet

119) What colour is discharged when neon gas is used in a gas discharge tube?

A) Red-orange
B) Violet-purple
C) Yellow-blue
D) Grey-off white

119) 919 19 f2arel 3d & AT 19 BTSN fhar SITdl &, T8 DI 91 T faaford oIl 62

A) AA-ARI
B) aracie sl
C) dar-—ter
D) 3r-3{{th cgrse

120) As per the Order of Precedence of the Republic of India, the second citizen of the country is
the

A) President

B) Prime Minister

C) Vice President

D) Deputy Prime Minister

120) HRUT ORI Y AT 5 B STHR, G B QAR AFTRS DI 67

A) Irsgafa
B) gemeradr
C) surseufa

X

D) SugenmaaSy

121) Article 1 in the Constitution states that 'India, that is Bharat, shall be a ....... '

A) Federation of States
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B) Unitary State
C) Union of States
D) Quasi-federal State

121) WYt & offede 1 & ST § b, 'S, 3rdid YR, ...

A) Tt BT HERTST §
B) e wswr 8

C) reat B1TU §

D) sre5-efig e @

122) Which of the following Deccan mountains are situated between the rivers Narmada and
Tapti?

A) The Aravallis
B) The Satpuras
C) The Vindhyas
D) The Eastern ghats

122) FAfaf@d & T B Il gared 9dd, 73T 3R dredy Al & o9 feua 872

A) 3RTael
B) gaqer
C) fge

D) gdf ure

123) Which one of the following places in Jammu and Kashmir is known as 'Little Tibet'?

A) Ganderbal
B) Rajouri
C) Ladakh
D) Udhampur
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123) ST 3R FHR F Feaafaiad 7 ¥ 5 T+ B fafee fsaa & 14 Y ST ST 82

A) TTeetaor
B) ity
C) sreera

D) IywgR

124) In Peshawar, who led and organised the Civil Disobedience movement?

A) Lala Lajpat Rai

B) Jawaharlal Nehru

C) Maulana Abdul Kalam Azad
D) Abdul Ghaffar Khan

124) URTER #, AT 3TAT SMGICH BT dca 3R SRS ey e UT?

A) AreT dTSad I

B) SargRdd sg®

C) HIeTHT 3tegd HaH TSl
D) 3reget TR W

125) Who is the author of the famous novel ‘Anandamath’?

A) Abanindranath Tagore

B) Natesa Sastri

C) Bankim Chandra Chattopadhyay
D) Rabindranath Tagore

125) 9TEE 3U-ART 'S GHS B @D D &7

A) sreefiegaTTe SR

B) T eme

C) wfardeg, Ty
D) tfegarer SR
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126) In the Indian Constitution, the subjects of Citizenship and Census is included in which of the
following lists?

A) Union List

B) Concurrent List
C) State List

D) Residual List

126) HRAR Gfaene & ArTRedr SR SHTUHT & st &l fefaiad & 9 e e #F enfier fman
T §?

A) g g0
B) Fararlt Tt
C) qreer Tt
D) srafarse =i

127) According to the Joint Sittings and Communications Rules of the Houses of Parliament, the
quorum to constitute a joint sitting shall be

A) One-eighth of the total number of members
B) One-tenth of the total number of members
C) One-sixth of the total number of members
D) One-fourth of the total number of members

127) WUG & Teell & GYFd o3P qUl Halg Feith Tt & STUR, Ygad 96 a1fdd b & ford
O e HEEAT T FE&d

A) ol TeTT T B1 STSal HIT Bl

B) 1 weww deam &1 awdt YT gt
C) 3 HexT T&AT BT TST U BRI

D) e wreear T b1 U TNUTE WITT Rl
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128) As per Indian Constitution, a person who is arrested and detained shall have to be produced
before the nearest magistrate within

A) 12 hours of the arrest
B) 24 hours of the arrest
C) 36 hours of the arrest
D) 48 hours of the arrest

128) HRGIT TIeT= & STHR Rl cafda for fARerar fovam T 81 SIR garerTd & 31 a1 81 39
fohcel THT & SR Hehe s ESTIHRY & U IEdd fhT S B ATaeeT 57

A) IRFaR 81 & 12 gt & iR
B) AR¥dR 811 & 24 gel & Wi
C) fFR¥aR B & 36 &el & HIR
D) foRoraR 81 & 48 et & Uik

129) Which of the following bodies is a constituent research laboratory of the Council of Scientific
and Industrial Research (CSIR) established in 1961 and conducts research on highly complex
structure and processes of the Earth system?

A) National Geophysical Research Institute
B) Indian Geo-Strata Research Council

C) Geomorphical Research Institute of India
D) Indian Geophysical Research Council

129) fAe=ATafd & ¥ 31 A1 AT 1961 & T 3 SR 3ite@fiew SF9U™ aRve (CSIR)
Y T YUH TNY FATTRATET & SR Y2 JoTel Y 3rca i sifeer YT SR ufhamsit IR Sdum™
HIA1 8?2

A) s yaitfarr SrTdU™ e

B) yRdlg Y-radar g™ aRwg

C) st fhere Rad éege sl sfzar
D) yReffa y-sifahr SrTgu™ afiteg
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130) Who among the following scientists from India won the Dan David Prize for 2017, for his
contribution in the field of Astronomy?

A) Jayant Narlikar

B) Subrahmanyan Chandrasekhar
C) Fathullah Shirazi

D) Shrinivas Kulkarni

130) W Ta=TeT & &7 F STH ANGH & ToIT, R & foidelio e Jeilfetent 3 frder 2017 & forw
7 2fg WESR Sdr?

A) ST sreifet

B) Jseavae gegaer
C) thgears farTsh

D) shfeyare Perepoft

131) V.J. Surekha one of the recipients of Arjuna Awards 2017 represents India in which of the
following sports?

A) Boxing

B) Wrestling
C) Badminton
D) Archery

131) 3(VlT [REHR 2017 & Fredendi3it # ¥ Tep, dt. o, AT fFe=1faf@d # ¥ o @d & HRd &1
gfafafeca Hdl &2

A) HerhaTsit
B) et

C) Ssfiea
D) dRereit

132) In 2019, which organisation created the Guinness World Record for the longest single line
moving bicycle parade in Noida?

A) National Disaster Response Force
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B) Central Industrial Security Force
C) Border Security Force
D) National Security Guard

132) 2019 #, e TG = TTST & G qell Rarer <13 AT TTsfehet WSS fow [eier aes Rers
o1y7?

A) AT e 39U By
B) et i GgRE B
C) stst A gREr B

D) Aemd aegReér ans

133) The longest serving combat unit of the Indian Navy which turned 60 in 2019 is

A) Blue Tigers squadron
B) Red Tigers squadron
C) Black Tigers squadron
D) White Tigers squadron

133) o THA dP HRATA AT & T & I1dt e e forg 2019 3 60 A1 TR fohe, I fpay
AT & ST STl 87

A) o] TTZI TFATZA
B) Y ez Tt

C) soieh TT5IRT TFaTE
D) zgge ergerd Terargal

134) According to the Food Safety and Standards Authority of India (FSSAI), the use of which of
the following chemicals is prohibited for ripening of fruits?

A) Calcium chloride
B) Sodium chloride
C) Calcium carbide
D) Sodium bicarbonate
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134) R @eg TX&T Td H-eh TIfAaoT (FSSAI) & Harfaeh, hell dl U & faw Fefafad
AT 7 Y e BTSN ey 87

A) $TRIH FoiRTSs
B) @ifea# seiviss
C) &forraa wreTss
D) aifzgs sresrefae

135) Which of the following polymers is used to prepare soft contact lenses?

A) Polymethyl methacrylate
B) Polyvinyl chloride

C) Nylon 6

D) Polyacrylamide

135) fre=Tfaf@a & § frg difoFR ©1 SEQATS A1 Hiecde o ddR B4 & T ST 872

A) arehfaTse AThReT
B) qrehfasiser #aiRtss
C) g 6

D) utehufhersarss

136) Who among the following moved the Objectives Resolution which was unanimously adopted
by Constituent Assembly on 22 January 19477

A) Rajendra Prasad
B) K.M. Munshi

C) Jawaharlal Nehru
D) B.R. Ambedkar

136) fAFafafld & U fFa= 22 STTadl 1947 DI AT THI GaRT FETFATT I SUAT U 3eT
Tehed Dl TR famar?

A) Trateg gaTE
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B) $.uw. 7=
C) Sarevard ag®
D) &t 3R, 3ra5eht

137) Which among the following Articles of Constitution of India deals with 'Prohibition of Traffic in
Human beings'?

A) Article 21
B) Article 17
C) Article 23
D) Article 29

137) YRA & HIAETT & e i@ Sfedal # ¥ P 9l WA Sifa i aeehdl IR yiaser J deftd
?

A) 3=de 21
B) s/ 17
C) sz 23
D) sri=ere 29

138) Which of the following is India's first crowdfunded and crowd-sourced Sanskrit animated
feature film?

A) Meghaduta

B) Punyakoti

C) Ishti

D) Bhagavad Gita

138) 5oTaf T B HRA ¥ Tgell 138 Hes (HIS-fa M) 3R h133-81eE Tehd vfades Brer fhear
82

A) Berqg
B) quznife

C)gfee
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D) yrraq tftan

139) Dumhal dancers dress up wearing vibrant coloured robes and conical caps, which are
generally studded with beads. It is a popular folk dance of

A) Gujarat
B) Kashmir
C) Jharkhand
D) Karnataka

139) GHG M wAdeh 3MTehvah I+ T 3R iFaTFR el Ugd &, St 3 dR IR At A SIS gt &1
Ig fh T BT U Tfiee Tl {7 &7

A) TSR
B) sreriy
C) grRds
D) stfeen

140) Who among the following is NOT an Indian classical Bharatanatyam dancer?

A) Saroja Vaidyanathan

B) Padma Subramaniam

C) Pandit Shambhu Maharaj
D) Geeta Chandran

140) RrAfaf@d F § HH URT e HRAATCTH Fde 78l 82

A) WIS Segetrare
8) gegt JeeoaH
C) ufsa erey TR
D) e ager
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141) Which of the following is an art form encompassing ritual singing, drumming and dancing of
Manipur?

A) Sankirtana

B) Ankiya Naat
C) Yakshagana
D) Koodiyattam

141) Frafaf@d & T HIF 91 TP o1 &9 8 Forasd AR & Ssore T, S 3R Tezr enfdver &7

A) Fehrda
B) siferarmete
C) zreqamar
D) gfearees,

o

142) Which of the following statements is TRUE for the rivers Sabarmati, Mandovi and Narmada?

A) All the three rivers flow into the Arabian sea

B) All the three rivers originate in the state of Gujarat

C) All the three rivers are east flowing rivers and drain into Bay of Bengal
D) All the three rivers originate at Bhima Shankar in Maharashtra

142) FIERHT, HSA! 3R 36T AT & faw feifaf@d F S I HYF FeY 82

A) wft dF At SRR & 5t &

B) @t i aafet ToRTd e 3 foeperch &

C) Wit i 7Rt Ug & 95 arehr AT & SR SIS Sy WSt Teell &
D) gt a9 mw%mWﬁm%

143) Who among the following kings is the founder of Rashtrakuta dynasty?

A) Amoghavarsha
B) Vatsaraja

C) Dantidurga

D) Dharmapala
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143) fAFEAT @ STsf & / PIF Tsgehe I B FeUTT §7

A) 3rAraas
B) gearam
C) dfergatt
D) ersarer

144) Which of the following temples was built by King Narasimhadeva |, the great ruler of the
Ganga dynasty?

A) Sun Temple of Konark

B) Virupaksha Temple of Hampi

C) Brihadeshwara Temple of Tanjore
D) Pancha Ratna Temple of Bankura

144) T I & e UGS IoT TR fAeegeq |, 1 Arafar@d & 9 oF 91 #fex sarm 91?

A) FroTs BT T AR

B) oy 1 et #Afex
C) TSR BT ggerar Ay
D) siepR1 o1 Ul et AT

145) As per the Election Commission of India, 'Bicycle' is the recognised election symbol of:

(i) Samajwadi Party - Uttar Pradesh
(ii) Manipur People’s Party - Manipur

(iii) Dravida Munnetra Kazhagam - Tamil Nadu

A) (i) and (ii)

B) (ii) and (iii)

C) (i) and (iii)

D) (i), (ii) and (iii)
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145) YRA & foraTeret 3N & STHR, 'SISUISH el Aledl YIed TG Tchieh o

(i) THATSTETET 9Tel- 3 9T
(il) ATOTR e ardi- AR

(iii) &S FoT HSTH - dAfAer=Tg

A) (i) 3iR (i)

B) (i) 3R (iii)

C) (i) 3R (iii)

D) (i), (ii) 3R (iii)

146) Researchers from National Chemical Laboratory Pune, produced carbon from which of the
following agri-products to be used in Li-ion batteries?

A) Groundnuts
B) Sweet corn
C) Soyabean
D) Sugarcane

146) ITSET ITATATART TR YU & eiershii3it 4 Frafaf@d & 9 S 8 Y 3cdmel 9 Li - 3
SRt 3 g B9 ATl ieeT Pl 3caTest 1T 62

A) Hardrelr
B) &die &t
C) araret=

D) st

147) What is Solibacillus kalamii; named to honour the late President of India Dr. A P J Abdul
Kalam?

A) New bacteria discovered by NASA on the filters of International Space Station
B) Robotic arm developed by ISRO to re-position satellite in the space

C) New vaccine developed by National Institute of Virology, Pune

D) Antibiotics developed by Haffkine Bio-pharmaceutical Corporation Ltd, Mumbai
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147) HRA & a1 Tsgafar S1 T Ul o 31sge Heli¥ Dl TFAT B & e Aifad afesers
HATH! #7757

A)  FRISET 3iaReT Teee B fhee TR NASA gaRT Tloll T 747 Sitdr]

B)  3iaRet 3 39ere &1 i ¥ I: TR B3 P fAT ISRO g@RT e Jsifess 4ol
C) AT sedrege 3K arRIdrsl, Yol gaRT s 78

D)  gftrepet STAN-rHTE e het hIaReIeT faiffes, Has canT fasiad vaarRiesa

148) Who was the flag bearer for the Indian contingent at the opening ceremony of the 2019 South
Asian Games in Nepal?

A) Tejinder Pal Singh Toor
B) Rahi Sarnobat

C) Neeraj Chopra

D) Saurabh Chaudhary

148) UTA # 2019 &I TRIATS Well & 3euresT YARIG H YR Gd & taoidigsh DI 4?2

A) dfSiex UTe g T
B) 1y glad
C) IR et
D) IRy =terdy

149) Sumrai Tete, a recipient of Major Dhyan Chand Award 2017 belongs to which of the following
sports?

A) Hockey

B) Athletics
C) Football
D) Golf

149) YHRTS ¢¢, HOR &aTeTde; RERR 2017 & UTeashd! [eafarad 7 I o ©d 8 Tefia &2
A) g
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B) verafesa

C) pesia
D) afrew

150) Which of the following options was chosen as the official mascot for the FIBA Basketball
World Cup 20197

A) Son of Dreams
B) Zabivaka

C) Turtle 'Olly

D) Ettie

150) fAFafaf@d 3 ¥ P11 1 fashed FIBA ShesiTel fad B 2019 & forw 3nfireRes THER T
T UT?

A) I 3t S
B) Wreitaret

C) e&ar 3ieeh
D) vedy
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Section 4 - Technical Knowledge of Electrical

No. of Questions: 50

151) What is the maximum efficiency of a full wave rectifier?

A) 99.8 percent
B) 98.4 percent
C) 81.2 percent
D) 76.4 percent

151) T YoTeaT feseehidl &1 31TRIehciaT GaTT fRhciall il 62

A) 99.8 gfaera
B) 98.4 gfaera
C) 81.2 ufaera
D) 76.4 gfaera

152) In an electric circuit, 4 resistances each of 10 Q are connected in parallel. What is the value
of the equivalent conductance of the circuit?

A) 40 U
B) 0.4 U
C)10 U
D)0.1 U

152) faegd aftaer 3, 93 10 Q & 4 gfeRits FHFIAR 3 ST & | TRIY & Ao Targacd Bl
HH Rhetetr 82

A)40 U
B) 0.4 U
C)10 U
D)0.1 U

153) Kirchhoff's current law expresses the conservation of
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A) power

B) energy
C) charge
D) voltage

153) el 1 faegd YRT s g EReTor B egerel T 82

A) erfea
B) zait
C) amaw
D) aYeear

154) Which among the following is CORRECT for closed-loop control systems?

A) The feedback is not applied as system quality gets deteriorated with time and the response
is unpredictable

B) The response is pre-calibrated
C) The response is relatively insensitive to the external disturbance because of the feedback
D) Itis comparatively cheaper than open-loop systems

154) fe=ATaf@d & 9 $I1 I U d¢ U =071 gorrel & forw ad) 87

A gfaafSe yed & 1 S g Fat 3 gomrely S [oTawT, THY B 1Y TRE 8l 1 g 3R
fafhar SFARY B oIl o

B)  wfafirar ud-srerifha 8
C) yfafimn, afaqfie & HRUI aTEd sqaeal & forw 3eTerd ST 3
D) o5 geir qU womrelt o @ F FEAT §

155) The generated voltage of a lap wound DC generator is 200 V. If the number of poles of lap
wound generator is doubled, then its generated voltage will become

A) 200 V
B) 100 V
C) 400 V
D) 300 V
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155) Teh AU AIdSH-ReY T S dleedT 200 V 81 afE AU ASeReR & Ul & Tear g o,
38R A Ao fhdetT gl ST 2

A) 200 V
B) 100 V
C) 400 V
D) 300 V

156) Which of these sets of logic gates are designated as universal gates?

A) OR, NOT, AND

B) NOR, NAND

C) XOR, NOR, NAND
D) NOR, NAND, XNOR

156) 39 WIoieh I & GHgt ¥ A B I JfAadiel 71C & & & A1fAT 82

A) OR, NOT, AND

B) NOR, NAND

C) XOR, NOR, NAND
D) NOR, NAND, XNOR

157) Which among the following materials has the lowest electrical resistivity at 20 degrees
Celsius?

A) Copper
B) Gold

C) Iron

D) Tungsten

157) feafafa geraf & @ fradhr fRegd gfaeedr 20 o afeaaa IR 9ad HH 572

A) aiar
B) I
C) @gr
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D) ¢areeet

158) What is the frequency of standard 12 V battery?

A) 50 Hz
B) 0 Hz

C) 60 Hz
D) 12 Hz

158) I 12 V e i 3Mafa frcet 82

A) 50 Hz
B) 0 Hz

C) 60 Hz
D) 12 Hz

159) Which type of electron pair exists in a semi-conductor?

A) lonic

B) Non-ionic

C) Homo-polar
D) Hetero-polar

159) 3TETaTeT® 3 fohd TR $T SoraeleT Slelgldl 872

A) et
B) 919 -3m=3nfaes
C) g -uier
D) geRIuier

160) Swinburne’s test is used to determine the efficiency of DC motors but it is not used to
determine the efficiency of DC series motor because

A) it is not advisable to run a DC series motor on no-load
B) a DC series motor takes excessive current at no-load
C) a DC series motor develops a very high starting torque
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D) itis not possible to load DC series motor in steps

160) TEaTesl faTe BT SEAAT T DC HITR FY &&Tell P fAefR0T H=A & foIw fam STl 5, 1 7 DC
1T HieR 1 gardr o forefRoT B & fore SEaATe f3aT oiTdT § i

A) g YR TR T DC WA HIcX I 3R 781 &

B) e DC &t Hlex Yoy YR W e e fegd YRT ol 3
C) T DC BRIt HICR §8d & 3o YRS eidh ! fAshiet BRell o
D) DC @rdier HieR &I =roit & URAT H4d 71gT §

161) For measuring capacitance of high voltage capacitors, which of the following bridges can be
used?

A) Wien Bridge

B) Modified De Sauty's Bridge
C) Schering Bridge

D) Wheatstone Bridge

161) 3= dleedr GUTRT W &TRdT S HITA P farw I J Aq B IUIN 81 Ghdl 57

A) fare 9,

B) #ifewrzs f2 @& 9q
C) Rrafar I

D) efreweier ¥

162) What is the meaning of accuracy of a sensor?

A) Closeness of output to the true value

B) Change in output for every change in input
C) Degree of freedom from random errors

D) Dispersion of measurements

162) U THT &1 G HI 378 T 82
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A) T& HH & faT 13T dr fehear

B) gqe # g 9adia & faw 33y # 9adld
C) e TRat & Taresa #r iR

D) A1q &7 gehroter

163) When two synchronous generators are operating in parallel, a change in governor set points
of one machine

a) changes supply frequency
b) changes active power supplied by the generators

c) changes the terminal voltage

Of these statements

A) (a

B) (b
) (a
)

a

and (b) are true
and (c) are true
and (c) are true
, (b) and (c) are true

C

(
(
(
D) (

~— N S S

163) 59 & [AhIeTd SHReR YAMIAR & & HRIET &, T U HRMH & 9aeR Ue Uigee # TP JGad,

S CEICIREICEN eI

b) SRR E@RT SMTUfet I ST I8 AT AT Bl 9ad ol 5|
c) ef#eTel dleear &l 9ad odl g

T FYATH I

164) Which of the following is the highest Interrupt Priority upon Reset in 80517

A) Timer Interrupt 1
B) External Interrupt O
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C) External Interrupt 1
D) Serial Communication

164) 8051 F YT P W 3TTTH Seede TATRET I I 82

A) TR geetee 1

B) wvergesTer Seete 0

C) vggester geetce 1

D) #ftwrer srgfasee

165) The instruction ANA M is

A) Four byte instruction
B) Three byte instruction
C) Two byte instruction
D) One byte instruction

165) fAERI ANA M

A) IR §13C fAER ®
B) it sTge Ew®
C)Qqame HéTs

D) ue sm5e AR B

166) How many semiconductor layers are available in a TRIAC?

A) Two
B) Three
C) Four
D) Five

166) Th TRIAC H fohdet 31eTdTeleh T 3UclsT 87

A) g
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B) d=
C)ar

&

D) urg

167) For a silicon NPN transistor, the base to emitter voltage is 0.7 V, the emitter is negative, the
collector to base voltage is 1.2 V and the collector is positive. The transistor is operating in the

A) Active mode

B) Saturation Mode

C) Inverse active mode
D) Cut off mode

167) T fafarepisT NPN giforeey & faw, 3MUR T 3cgoieh dleedr 0.7 V 8, 3choieh AhRIcH © 3%
TITEF T 3MYR deedr 1.2 V 8 3R HaTgs GHRIcHS ©, dl gifoTee

A) B3 I8 & BH P8

B) Gqfea Ai# $1H HR}EI T

C) ceshor Af3ha HIS & HH IS
D) e sifr 1S # &1 HR 6T &

168) Which electrical circuit theorem is stated as: “The total current in any part of a linear circuit
equals the algebraic sum of the currents produced by each source separately”?

A) Thevenin

B) Norton

C) Superposition
D) Tellegen

168) foher fegd IRTY 9317 H1 9 016 TS fohar TT & Vs aRayr & el oft ey 8
faegd URT I BN IRT SeRT-3(eRT 3cutied fegd YRT & Ne@IoTdT TN & SRER BN 8772

A) dafaeT
B) A
C) qururSi=H
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D) eeirarer

169) Which slope is represented by 1/jw in transfer function of Bode diagram corresponding to log
magnitude plot?

A) -50 dB/decade
B) -2 dB/decade
C) -20 dB/decade
D) -5 dB/decade

169) TN IRATOT 3R & SFT &S 3RT 7 RN T # 1/jw @R fohdr FaoTer Bl afafaftea
fepa STl &2

A) -50 dB/ decade
B) -2 dB/ decade
C) -20 dB/ decade
D) -5 dB/ decade

170) The stator of a 3-phase, 4-pole slip ring induction motor is connected to 50 Hz supply. At the
rotor terminals, a frequency of 30 Hz is required. The speed at which the rotor must be driven is

A) 1500 rpm
B) 2000 rpm
C) 600 rpm
D) 900 rpm

170) T 3-U], 4-UId Tera RaT SsereraA(@df aed 9rof) HIe 1 €eex 50 Hz &1 3T I JSTg |
RN e fHeTel W, 30 Hz &1 3T i 3maeashar & | for aife & AR =nfard fvar ST @nfze, 6 8

A) 1500 rpm
B) 2000 rpm
C) 600 rpm
D) 900 rpm

171) For a 3-phase induction motor, the rotor power output is 18 kW and the corresponding slip is
4%. What will be the rotor copper loss?
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A) 500 W
B) 540 W
C) 750 W
D) 600 W

171) T 3 ol S3eRI=I(SR0T) FHITR & fow e Y fegd A SPTE 18 kW § 3R deatay o
4% & | A IS g bt BRI

A) 500 W
B) 540 W
C) 750 W
D) 600 W

172) Which is the condition for toggle mode in JK flip-flop?

A)J=0K=0
B)J=1,K=1
C)J=0,K=1
D)J=1,K=0

172) JK Treg-wrellg & ST AlS & fore feufa i g2

A)J=0,K
B)J=1,K
C)J=0,K
D)J=1,K

0
1
1
0

173) What will be the maximum possible time required for change of state for a 4-bit synchronous
counter using flip-flops with propagation delay of 15 ns each?

A) 30 ns
B) 15 ns
C)45ns
D) 60 ns
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173) 9 15 ns & GoRUT [deid & 1Y [FTT-Fel1q T 51T P 4-fae Rspara Hrdca eyl
aRads & forT 3aeds 3ifteds U THT frder 82

A) 30 ns
B) 15 ns
C)45ns
D) 60 ns

174) Which of the following is an example of bilateral circuit?

A) Diode rectifier
B) Vacuum tube
C) Transmission line
D) Metal rectifier

174) a1 &1 ¥ DI 9 gfquriRdes aRay &1 Td IaTeR0e?

175) Which property in an electrical circuit is analogous to magnetic reluctance in a magnetic
circuit?

A) Inductance
B) Capacitance
C) Resistance
D) Conductance

175) Uh faegd aRay & SI4 91 U Jahrg aRTer & T gadhiar Faa@d] & TaET 67

A) RFea
B) enfear
C) ufarrer
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D) arererca

176) Which type of thermostat is generally used in appliances with heating elements?

A) Bi-metallic

B) Magnetic

C) Clad metal

D) Circuit breaker

176) 1T dedl ATa 3THTUl 3 AR R fFg R & gAfeee &1 IUTNT fHar ST g2

A) efaearq®

B) daehrar

C) s o1

D) qRuer faaiers

177) In a 3-phase alternator the slots/pole/phase is equal to 5, and the coil span is 12 slot pitches.
The coil span factor is

A) Cos 38 degrees
B) Cos 18 degrees
C) Cos 45 degrees
D) Cos 25 degrees

177) U 3-B50l YedTades 3 Tollea/aIa/hol 5 & sRT6R § 3R Pigd EeT 12 Folle ey 8| Hisd Tt
BRBT

A) Cos 38 fzaft
B) Cos 18 faait
C) Cos 45 f3afr
D) Cos 25 faai
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178) A 200 V/100 V, 50 Hz transformer is to be excited at 40 Hz from 100 V side of the transformer
winding. For the exciting current to remain as rated, the voltage to be applied should be

A) 150 VV
B) 80 V
C) 100 V
D) 125 V

178) TH 200 V/100 V , 50 Hz THBIEN DI CedhI#R arsiesal & 100 V 9&T H 40 Hz TR 3aferd
foraT ST § | 3eTh iegd URT gaTg I ¥ Redfay & o 38+ & forg, T 1 S arel dreedT g1
BlINY

A) 150 V
B) 80 V
C) 100 V
D) 125 V

179) The gauge factor of a strain gauge is 1, stress is 1050 kg/ cm”2, Young's modulus of elasticity
is 2.1x10° kg/ cm”2 and resistance is1000 Q. The change in resistance of the strain gauge is

A) 0.5 Q
B)1.0Q
C)15Q
D)2.0Q

179) Th T IS PHITIST tharex 1 8, T 1050 kg/ cmA2 B, TeITEdT 1 I HIUIH 2.1x106 kg/ cm”2
8 3R 9faRTEr 1000 Q B TeT I & YRy & IS el B2

A) 0.5 Q
B)1.0Q
C)15Q
D)2.0Q

180) In a hydroelectric power station, assume water discharges at the rate of 1 m®/sec and the
head of the water is 1 m, then the power generated by the alternator(Assume 100% efficiency of
generator and turbine) will be

A) 9.81 kW
B) 12.5 kW

Page750f87



Setld : 61786 3 Technical Assistant (LAB) - Electrical BATCH2 180CT2020

C) 16 kW
D) 22 kW

180) U STelfdegd Risteller &, A of fF i oId fagsiet 1 m¥sec W BT § SR U HT1ES1 m g,
ql 3TeeeieR EaRT 3cUea1 [degd AT GITI(TRER 3R TS T gaTdT 100% A o)

A) 9.81 kW
B) 12.5 kW
C) 16 kW
D) 22 kW

181) In case of 8085 microprocessor, the 6264 static RAM memory contains an array of

A) 6264 bits
B) 65536 bits
C) 32 bits

D) 64 bits

181) 8085 ATSHIUTAER P Heal # 6264 FAfaw RAM TAfT

A) 6264 e $r IROf anfder 8
B) 65536 fare i URUf enfaer 8
C) 32 fye & gRUN anfAer &
D) 64 e & ARUR enfAer 8

182) How are the bits of the register PSW affected if we select Bank 1 in microcontroller 80517

A) PSW.3=0and PSW.4 = 1
B) PSW.3=1and PSW.4 =1
C)PSW.3=0and PSW.4 =0
D)PSW.3=1and PSW.4=0

182) I ATSHIF=cIoR 8051 & H Bank 1 HTITT ¥ dl Toreex PSW & facq &3 ganfad giar?

A) PSW.3 =0 3R PSW.4 = 1
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B) pSW.3=13RPSW4 = 1
C)PSW.3=03RPSW4=0
D) psw.3=13RPSW4=0

183) If holding current of a thyristor is 2 mA, the latching current can be

A) 0.06 pA
B) 0.002 A
C)0.012 A
D) 0.004 A

183) Ife TP UTgREE T URUT faegd URT 2 mA &, Tl SIfeieT faegd YR 81 Il &

A) 0.06 pA
B) 0.002 A
C)0.012 A
D) 0.004 A

184) In a three phase full wave converter, the number of notches per cycle is

A) one
B) three
C) six
D) nine

184) T dIF1 TRUNG U0t A9 shefaréx 3 et =ik @ieif 7 TeaT 8

A) 1%
B) =
C) &g
D)

185) The current gain of transistor in common base mode is 0.99. What will be the current gain in
the common collector mode?
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A) 100
B) 99

C) 0.56
D) 0.98

185) PIFA o HIS & ¢ifoieex I Regd URT ey 0.99 | PIHA horered HIS & Fegd URT afeer
fercrl gITil?

A) 100
B) 99

C) 0.56
D) 0.98

186) For transistors configured as a common emitter (CE) amplifier, B = 40 and amplifier base
current (Is) = 25 pA.

What is the value of current flowing through the emitter resistor (lg)?
(Notations/symbols carry their usual meaning)

A) 1.025 mA
B) 10.25 mA
C) 102.5 mA
D) 1025 mA

186) 397ATeTSS 3choi® (CE) WredIhRIX & FaTford U gifoieey & 1o, B=40 3R VrefihRI 3MUR
faegd 4RT (Is) = 25 p A.

Sctoieh FfcRIY (Ie) SaRT JaTed 811 arel fdegd URT I H RhceT 62

(Fert /RIegt & U FrAeT 3T Bid 8)

A) 1.025 mA
B) 10.25 mA
C) 102.5 mA
D) 1025 mA
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187) The current through 4 Q resistor in the network below is
3Q 8Q

W

15A( 4 4Q i/d,av

A) 10 A
B) 14 A
C)12 A
D) 15 A

187) =i U T Aeash & 4 Q yfakies & AregH ¥ fegd YR §
30 8Q

15A 4Q 48 V

A) 10 A
B) 14 A
C)12 A
D) 15 A

188) Match analogous properties between the two lists, translational and rotational mechanical
systems given below:
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List | (Translational) List |l (Rotational)

A. Force

1. Torsional Compliance

B. Mass

2. Rotational damping co-efficient

C. Damping co-efficient |3. Moment of inertia

D. Compliance

4. Torque

A) A-1,B-2,C-3,D-4
B) A-4, B-3, C-2, D-1
C)A-1,B-3,C-2,D-4
D) A-4, B-3, C-1, D-2

188) 1 & 715 &l YRt & forcgeror 3R goff aifyer yonferat & did Gersa uit &1 fRelr= Y

AT | (feeaaT) T 1 (i)
A T 1. = AT
B. 7591 2. U AFHEA TH
C. == 3. =T
D. #qIET 4, FATLH

A) A-1,B-2, C-3, D-4
B) A-4, B-3, C-2, D-1
C)A-1,B-3,C-2,D4
D) A-4, B-3, C-1, D-2

189) If steady state gain is 2 then the transfer function G(s) for the shown pole-zero plot will be

X -PJ

i

A) 5(s+1)/(s?+4s+5)
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B) 5(s?+4s+5)/(s+1)
C) 2(s+1)/(s?+4s+5)
D) 2(s?+4s+5)/(s+1)

189) Tfe; TUTE 3T ofsyy 2 B, Al @M 7T ¢d-Rerar 3R & forTw IR0 gehrd G(s) R

x _]'—"

.

A) 5(s+1)/(s?*+4s+5)
B) 5(s?+4s+5)/(s+1)
C) 2(s+1)/(s2+4s+5)
D) 2(s?+4s+5)/(s+1)

190) An 8-pole, 250 V wave wound generator has 200 conductors, if the generator is to be lap
wound, for the same voltage the number of conductors required is

A) 800

B) 1000
C) 1600
D) 3200

190) TH 8-UId, 250 F1ez 49 AT S SRCX# 200 FATADB 2, AT TR DI Y IS S 11 ST 8, TBt
FrezdT DAY sraeT JaTddh 1 JE4T §

A) 800

B) 1000
C) 1600
D) 3200

191) The conversion time and conversion rate for a counter type A/D converter which contains 4-bit
binary ladder and a counter driven by a 4 MHz clock are

A) 4 ps and 250 kilo conversion/sec respectively
B) 16 us and 250 kilo conversion/sec respectively
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C) 2 us and 500 kilo conversion/sec respectively
D) 16 us and 62.5 kilo conversion/sec respectively

191) 4 e ST5a1 AR TG 4 MHz TS gaRT Faiford Th BISCGeFd BRI A/D Feldel & fow
FATAROT JHY Ud FITAROT &R FheieTT 82

A) 4 ys 3R 250 kilo conversion/sec(farell FATALOT/AHS) FHHI:
B) 16 MS 3R 250 kilo conversion/sec(fohall FITARUT/AHS) THaA:
C) 2 ps 3R 500 kilo conversion/sec(frell FUTCRUT/AHS)eHHI:
D) 16 MS 3R 62.5 kilo conversion/sec(fehall FITAROT/AHS) SHal:

192) Which of the following is an example of converting energy from one form to another?

A) Solar Cell

B) Transistor

C) Circuit breaker
D) Lightning arrester

192) fArATafAd # ¥ I I1, Th &9 A TR §I Sl FITROT BT T SaATGU5?

A) IR Id

B) zifSreey

C) gRuer et
D) afga JAud

193) Which among the following is primarily used for transformer cores operating in microwave
range?

A) Ferrite

B) Silicon steel
C) Super alloy
D) Copper
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193) o=@ 7 U H&a &7 Y fhaer SUAIT, ATSHIAT ¥oT 7 AR HR & IRare & forw
ST 82

A) BR1Ee

B) Rafereier et
C) I sy o1,
D) qiaT

194) What is the main constituent of a glass?

A) SiO2
B) B203
C) Al203
D) Fe20s3

194) ToITE B HET UCHh FT 67

A) SiO2

B) B20s3

C) Al203

D) Fe20s3

195) A 20 pole, 30 Hz alternator is directly coupled to and is driven by 60 Hz synchronous motor.
The number of poles for the synchronous motor is

A) 48
B) 12
C) 40
D) 16
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195) TP 20 UId, 30 Hz 3ifeesiey, 60 Hz sl Alex ¥ geget IFA § 3R ITPearT =iferd |
i Mex & fore U 6 der 8

A) 48
B) 12
C) 40
D) 16

196) Wagner’s earth devices are used in a.c. bridge circuits for:

A) Eliminating the effect of earth capacitances

B) Eliminating the effect of inter-component inductance and capacitance

C) Eliminating the effect of stray electrostatic fields and electromagnetic fields
D) Shielding the bridge elements from external magnetic field

196) IR 379 F3aTsd Bl a.c. Uq IR 7 fhash T gEa#Te v ST 67

A) e TReT & F3Td DI Ted HIA P forw

B) iaR-uceh Revea 3R &R & T37Ta Pl Wed HRA & farw

C) v Feerfegd &t IR Regddsedia 8 & I8ia Bl e HRA & faw
D) aredr by 81 @ W et I ARRETOT e & e

197) A coal fired steam power plant is working at a plant load factor of 90%. It has one 400 MW
generating unit. If the heat content of the coal is 2 kWh/kg, the overall plant efficiency is 60% and a
trainload of coal is 900 metric tons, how many trainloads of coal are required daily?

A) 1
B) 6
C)8
D) 10

197) 90% T U TIT YR T[UTh UR Teh B 3HTIeT Ysodelad arsq-2Ifdd HIH HR 616 | 304 Tb 400
MW dT¢ 3cdTea gfae & | afe HIad 1 FSAT 2 kWhikg 8, THIT TIT S&TdT 60% § SR DRI BT &R
900 Af® & B, A U ot P 1 SANR 1 dear fhvaely grf?
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A) 1
B) 6
C)8
D) 10

198) In a power system with a negligible resistance, the fault current at a point is 8 pu. The series
reactance to be included at the fault point to limit the short circuit current to 5 pu is

A) 3 pu

B) 0.20 pu
C)0.125 pu
D) 0.075 pu

198) Sgd bH SfeRTer o 1Y Teb Ifere o 7 Ueb g IR <IN faegd URT 8 pu 81 T IRy fegd
YRT 15 pu Tb WA I & forw QY foig, TR enfer fovam T aTel s@al gfaerd &

A) 3 pu

B) 0.20 pu
C)0.125 pu
D) 0.075 pu

199) The timer clock frequency and its period for the crystal frequency of 13 MHz will be

A) Clock frequency = 1.08 Hz and Time Period = 0.9 s

B) Clock frequency = 1.08 Hz and Time Period = 0.9 us
C) Clock frequency = 1.08 MHz and Time Period = 0.9 us
D) Clock frequency = 1.08 MHz and Time Period = 0.9 s

199) 13 MHz & fireeer 3MTafa & fore BIdiq Uo! 3fTdfer SR 3w 3rafer givfl

A) pTerq 3MTdfeT = 1.08 Hz 3R 31afr = 0.9 s
B) @rera 3MTafer = 1.08 Hz 3R 31afr = 0.9 ps
C) Teiq 3Mgfer = 1.08 MHz 3R 3/afer = 0.9 ps
D) Teiq 3mafer = 1.08 MHz 3R 3@fr=0.9's
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200) A silicon controlled rectifier (SCR) has half cycle surge current rating of 3000 A for 50 Hz
supply. The one cycle surge current of SCR is

A) 1500 A
B) 2121.32 A
C) 6000 A
D) 4242.64 A

200) 50 Hz r MY & forw Teb RAfereieT sheles IFeHER (SCR) 13000 A 37ET Tsh Tot fegd URT
YT 81 SCR BT TS sk Tl faegd URT ©

A) 1500 A
B) 2121.32 A
C) 6000 A
D) 4242.64 A
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